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NAOSIM experiments:

* AOMIP_spec

* AOMIP fullrest (AOMIP_spec with 180d rest., Xi precip)

« AOMIP_NCEP

* NCEP

(AOMIP_spec with full NCEP forcing, 180d rest.)

(OMIP initial cond., full NCEP forcing, 180d rest.)



Arctic ice volume




Fram ﬂc:rthward volume flux
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Fram northward heat flux {rel 0G)
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BESO eastward volume flux

Black: AOMIP
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St Anna northward volume flux

black: AQKMP

]' red: NCEP
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Layer Velocities Depth=0014 0f Layer Velocities Depth=0014 00DEC1954
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Arctic Freshwater content to 34.8 (ref.. 34.8)
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180d



Total Arctic Freshwater content (ref.. 34.8)
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Ghserved Precipilation Ghserved Precipilation MONTHLY MEAN:DEC 000
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Additional Freshwater input: 1000 km3/y




Arctic FWC rise 1965-1985:
20 000 = 1000 km?3/y

GSA Arctic icevolume |oss:
5000 km?3/y

1950 960

Salt inflow decrease: equiv -3000 km?3/y

Precipitation datasets. +/- 1000 km?3/y




NAOSIM AOMIP coordinated experiment:

Sensible results in some parameters (integrated ice volume,
AW and surface circulation, temperature fields...)

BUT... ’




There is a problem with the freshwater balance....
(boundary cond., source unknowns,...)

Is it amatter of ,luck’ to get a stable result?







